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4. As shown in the figure, it is given that £ BOC=2 £ AOC, ¢
OD bisects (*£43) £ AOB, and 2COD=19°. Then, ABOCB
is degrees. (A) 74° (B) 76° (C) 80° (D) 82° 0 4
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1. Let numbers 4 and B satisfy the following conditions: when 4 is divided by B, the
quotient is 5 and the remainder is 5; and when 24 is divided by B, the quotient is 11
and the remainder 1s 3. The value of 4 is
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2. 25 basketball players wearing jerseys numbered 1 to 25 formed a circle. Prove that
there must be three adjacent players whose jersey numbers add up to more than 40.
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